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QUESTION 1

An electronics store needs to enhance their online inventory verification system regarding available inventory for a
requested product. Instead of returning the inventory count as a web response, an invoice for the purchase is to be
generated and automatically sent to the online shipping system. Which web service standard and which SOAP node
can the solution developer change to enhance the message flow? 

A. WS-Addressing and SOAPInput 

B. WS-Addressing and SOAPReply 

C. WS-Security and SOAPRequest 

D. WS-ReliableMessaging and SOAPAsyncRequest 

Correct Answer: A 

 

QUESTION 2

A solution developer needs to determine why the latest update to a message flow does not work as designed. It is
thought that the latest update has not been deployed to the broker. What command can the solution developer use to
determine which BAR file is deployed? 

A. mqsilist 

B. mqsireadbar 

C. mqsireportbroker 

D. mqsireportproperties 

Correct Answer: A 

 

QUESTION 3

In the figure, Project1 is a Message Broker Project that contains two message flows, Flow1 and Flow2. Project1
references Lib1 library. Flow1 and Flow2 use Error_handler subflow. The solution developer created two BAR files,
Flow1Artifacts.bar for Flow1 and Flow2Artifacts.bar for Flow2 artifacts, and deployed the two BAR files to the same
execution group. 
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After deployment, a defect is found in Flow2 and the solution developer adds more logging information to the
Error_handler subflow to better understand the issue. The solution developer then rebuilds the BAR file
Flow2Artifacts.bar and deploys it. What is the expected outcome? 

A. Flow2 captures the changes and Flow1 generates a runtime exception. 

B. Flow1 captures the changes and Flow2 generates a runtime exception. 

C. Flow1 and Flow2 capture the new Error_handler subflow logging information. 

D. Only Flow2 captures the changes and Flow1 continues to use the old Error_handler subflow logging information. 

Correct Answer: C 

 

QUESTION 4

A solution developer has been informed of a problem with a message flow. Based on the error given, the problem
seems to occur in ESQL code. The solution developer determines the need to debug the code. How does the solution
developer set a breakpoint in the ESQL code? 

A. 1. Right click message flow 

2.

 Set breakpoint in appropriate location 

3.
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 Redeploy flow 

B. 1. Right click Compute node 

2.

 Choose open ESQL 

3.

 Set breakpoint on right hand side margin 

4.

 Choose Debug 

C. 1. Double click Compute node 

2.

 Find code breakpoint location 

3.

 Right click left margin of code window beside this location 

4.

 Choose Add Breakpoint 

D. 1. Double click JavaCompute node 

2.

 Find code breakpoint location 

3.

 Left click margin of code window beside this location 

4.

 Choose Add Breakpoint 

Correct Answer: C 

 

QUESTION 5

A solution developer needs to transform a message. As such, the solution developer needs to insert the content from a
input message tree into a storage area of Environment in one node, and then transform the message and Environment
in another node into the output message tree. To do so, what can the solution developer use? 

A. Perl 

B. ESQL 
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C. XSL Stylesheet 

D. Graphical Data Mapping 

Correct Answer: B 
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